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1. BREROE

(M BEIRLE
OEARFEERLE [o0] [1,000] [1,000] [1,000]
EARAMESZTHE 0 1,000 1,000 1,000
QB\H£INEE [o0] [19,300,000] [19,300,000] [740,000] [20,040,000]
ZWMALRE 0 1,680,000 1,680,000 1,680,000
ZHRRE 0 17,620,000 17,620,000 740,000 18,360,000
O350k [49,655,000] [58,000] [49,713,000] [49,713,000]
ZHMEHEHNS 34,106,000 34,106,000 34,106,000
R &RE%E 58,000 58,000 58,000
ZHREMEHMESIRES 12,093,000 12,093,000 12,093,000
BEEEXIEN REEIREEE 3,456,000 3,456,000 3,456,000
@BTEEEERE [23,000] [1,000] [24,000] [24,000]
BEEEZIAE 23,000 1,000 24,000 24,000
(OF: 3V [10,341,000] [258,000]) [10,599,000] [10,599,000]
ZHAE 3,000 1,000 4,000 4,000
EHE 10,338,000 10,338,000 10,338,000
ZHMAEH 110,000 110,000 110,000
HINEE 147,000 147,000 147,000
BHIANAERHA) 60,019,000 19,618,000 79,637,000 740,000 80,377,000

(2)EEER
DExE [62,583,000] [24,210,000] [86,793,000] [86,793,000]
$REN 5,457,000 3,000,000 8,457,000 8,457,000
HBRFY 15,257,000 4,670,000 19,927,000 19,927,000
BRI ER 107,000 595,000 702,000 702,000
=k 7,939,000 2,514,000 10,453,000 10,453,000
EIEEE 5,029,000 1,323,000 6,352,000 6,352,000
XEE 35,000 35,000 35,000
REXEE 125,000 320,000 445,000 445,000
BIEEWE 1,383,000 117,000 1,500,000 1,500,000
HERE 837,000 814,000 1,651,000 1,651,000
HEHSRERE 462,000 462,000 462,000
RIS AE 1,297,000 57,000 1,354,000 1,354,000
EIEE 581,000 581,000 581,000
S E 218,000 3,510,000 3,728,000 3,728,000
FERARRVEREH 1,065,000 33,000 1,098,000 1,098,000
REEH 630,000 630,000 630,000
S FEk 610,000 68,000 678,000 678,000
EZ/N-Fikn 118,000 118,000 118,000
RitE 2,661,000 1,172,000 3,833,000 3,833,000
LEEERE 89,000 89,000 89,000
EYiEiENE 3,799,000 3,799,000 3,799,000
hESRIEENE 0 0 0
BERHRIMERNE 0 0 0
FAHEK 22 SRR iR (A & 0 0 0
HaERBmENE 303,000 303,000 303,000
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(R2E) (= 2)) .
BESILEEALE 5,049,000 5,049,000 5,049,000
E iR &R AR 8,637,000 8,637,000 8,637,000
BEELIEMNEHNE 3,456,000 3,456,000 3,456,000
BEEEYESREZE—MRERE 3,456,000 3,456,000 3,456,000
QEEE [0] [0] [0] [740,000] [740,000]
HBHEFY 458,000 458,000
R E 11,000 11,000
BHELE 79,000 79,000
R 10,000 10,000
REXBE 177,000 177,000
S F 5,000 5,000
BREERHB) 62,583,000 24,210,000 86,793,000 740,000 87,533,000
LR R EE(A)-(B)=(C) A 2,564,000 A 4,592,000 A 7,156,000 0 A 7,156,000
2. @ENEEOL
(1) @E5IRIE
OZm#HBE
SHENEHNE
@% Dtk
BEBIMERAR
£ESMREFHD) 0 0 0 0 0
(2)®ENER
O & EFER
BEERERKREE
EENERHE) 0 0 0 0 0
AR S R EED)-(E)=(F) 0 0 0 0 0
4 17— i IF Bk B 2 SR BB (CH(P)=(G) A 2,564,000 A 4,592,000 A 7,156,000 0 A 7,156,000
— B IER M EHEERH) 159,097,000 142,603,000 301,700,000 0 301,700,000
— R IERR B EHRBE R (GQHH)=D 156,533,000 138,011,000 294,544,000 0 294,544,000
I $5FELKEEEROLH
QL35 [63,456,000] [63,456,000] [63,456,000]
ZTHEMSENS 60,000,000 60,000,000 60,000,000
BEBEXEMNERDE 3,456,000 3,456,000 3,456,000
Q¥ EEEERL [118,000] [118,000] [118,000]
BEEEZIF A 118,000 118,000 118,000
QZmFH < [0] [0] [o]
ZHEHE 0 0 0
@—BIEKRME~DEREE [ A15,549,000] [ A58,000] [ A15,607,000] [ A15,607,000]
— R IEREAE A~ DIRESE A 15,549,000 A 58,000 A 15,607,000 A 15,607,000
L4 HA45 T TE Wk B B 1 R EE (V) 48,025,000 A 58,000 47,967,000 0 47,967,000
EEEHRMENEERSK 10,009,870,000 38,435,000 10,048,305,000 0 | 10,048,305,000
5 5E IERK B EE AR A (D+HK)=(L) 10,057,895,000 38,377,000 10,096,272,000 0 | 10,096,272,000
I EbHPEHRBEDHL=M) 10.214,428,000 176,388,000 10,390,816,000 0 | 10,390,816,000




